A K| ZALA

2017 H 09 &

A8 k= 44t H| 10
<F=Us>
I.+9 114,695,042
1. YUt /= 107,878,452
7t Yot F 107,878,452
(1) d7[=&A=H2) 101,470,00014,302%H =¥
) 7= A=t 2,810,000{2774 EtH =&
HIE7| = &= 3,598,452|2[F# 42| Atz =&
2. A 6,816,590
7t WA= 6,816,590
(1) 2MXAHH| 1,217,500[4F A XX}
2) B LA 5,599,090| SCHX| 7|5t
1. Af°*2|*°l 3,501,780
) O|Rpz=2l 16,224
(2) oI 4=¢ 628,556[5t11 +2 L off 1044
3) At= & EHof 4= 27,000
(4) EP|2dYea 2,830,000
m. 7|Et 688,450
(1) 7M1|01IT% | & 559,910
2) Ol=3=2f Hd 128,540
IV. E?I(%)OI;J 21,221,196
OR=N= 1,355,400
(2) o= 19,865,796
g A 140,106,468
<X|&E>
V. HIR 105,298,654
. AR 2| 20,023,347
7} ol Z4H| 11,142,972
O 9,581,966
) AR ZE 762,508
3) El&Z9 798,498
L}, ApE22H2|H| 8,880,375
(1) =2 =-dH] 4,106,630|FEH M= A Sotz| &
2) ArFE&H| 64,100
(B) =22y 495,520\ ™ 7| M|
(4) =22 117,600
(5) 2] 2,590
(6) 22[H| 838,800
) =49 848,570\ 82t A ZE AO[E A=
(8) = A Ql2HH| 36,000
9 =94tz 414,040




(10) Xl 2+= 1,197,675
(11) A== &H| 443200| &2 At &A= K| &
(12) =M H| 25,000
(13) S E=H|ZH| 20,650
(14) 2|2 22| 270,000
2. ArH29H| 85,275,307
7f. At QI | 69,825,864
(1) ZAH|(AFRH]) 2,300,000|2 % X EE3|
(2) = (AHRH]) 100,000
(3) &0 (AFRH]) 57,806,185
(4) ACHE = = (AFRH]) 4,288,114
(5) EIZIZ0{(AtHI) 5,331,565
Lt AFH A ALH| 14,598,650
(1) 2| QH[(AFRIH]) 505,700
(2) 2 EH|(ARIH]) 47,080
(3) HAFZIZHH|(AFRIH]) 1,958,510 Z4E At ZIZH|
(4) AFF-EEH|(AFRH]) 46,400
(5) T CHH[(AFRIH]) 61,300
(6) =M ZHH|(AFRiH]) 240,700
(7) 2HHH|(AFRiH]) 212,990
(8) YL I H[(AFRHI) 514,100
(9) = A QI2HH|(AFRIH]) 2,176,900| 5 A7| AH&E S =3O Ot 0t K| Z}
(10) OfH|  SH|(AFRIH]) 426,300
(11) A=22|H|(AFRH]) 1,949,400
(12) = LAt= (AL H]) 4,365,960
(13) S4AIH[(AFH]) 2,093,310
Cl. S EALHH| 850,793
(1) SE =N ZH|(AtH]) 850,793
VI. AtHR|H| & 2,834,000
(1) EtZI2d&Ea 2,830,000
) EXl= 4,000
VI. 7|E} 10,862,628
(1) F7tMltiEa2l & 370,000
2) H=Z9| F= 234,500
3) ol==2| ZHA| 258,128
4) EH7|IX =2 ZH 10,000,000|CHEF Atz
g A 118,995,282
<X Xl > 21,111,186
<XHE@olE> 0
OR=N=; 1,442,700
2) o= 19,668,486
g A 21,111,186




